Higher Technological Institute
Mid-Term Exam — (Sep-Dec 2017)
Theory of Structures (2)-CT 112

Civil Eng. Department

. 1
Dr.Manal Kamal Zaki G 93 Time: 17 hrs.
Q1 ILO’s
For the shown beam:
1. Separate at >, [a2] [2 marks]
2. Find the reactions. ZI‘ ‘1;/ \ [a2] [2 marks]
3. Draw the N.F.D., Q.F.D, & BM.D. | [a2,b3,c2] | [4 marks]
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For the shown Frame: L Uiy v T Ty 11
1. Find the reactions. [a2] [2 marks]
2. Draw the N.F.D., Q.F.D. PN [a2,b3,c2] | [4 marks]
3. Draw B.M.D. .l [a2,b3,c2] | [4 marks]
6L 5 m L
ol A\
i T
F ok T
Fig. (Q2) [Total 10]
ot
Q3 ~
For the shown Frame: 1 _L/ A’é// e e 17
4. Find the reactions. [«f P T 1T [al] [2 marks]
5. Draw the N.F.D., Q.F.D. C ' [a2,b3,c2] | [4 marks]
6. Draw B.M.D. / [a2,b3,c2] | [4 marks]
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Q4
Discuss the stability and determinacy
of the shown structure: /i [2 marks]
f{ @ [bl.c1]
Fig. (Q4) £ /;7—57_ [Total 2]
[Total 30)
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Course
Examiner: Dr.Manal Kamal Zaki .

Higher Teéhnologlcal Institute
10" Ramadan City
(6™ October Branch)
Department of Civil Engineering
:Theory of Structures(2) (CT 112) Term

- Time : 90 min

: Sept.-Oct. 2017-2018

Final exam

Question 1 {16 Marks} QT g ILO’s
“For the shown frame: D e 271“ A
1. Find the reactions. ‘ , 5 k [a2] [4 marks]
2. Draw the N.E.D., Q.F.D. ' -# [a2,b3.c2] | [8 marks]
3. Draw the BM.D. - \,%f/@m I [22.b3.62] | 14 marks]
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. Question2 {12 Marks} _
For the shown truss: .
1. Find the reactions. [a2] [2 marks]
2. Find the normal forces o [a3:b3,¢3] | |8 marks]
in the other marked members. '
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Question 3 {12 Marks} 5t 5t 5E 5C 5 = 5t
For the shown structures:
1. Find the forces in the link members. [a2.a4,c4] |[12 marks]
2. And draw the B.M.D. only.’
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Higher Technological Institute _ Civil Eng. Department
Fmal Exam ~( Jan —May 2017) ‘

Theory of Structures (2) , 1
’7___Q|‘._Pﬂa'i_r3@l Kamal Zaki CTi12 Time: IEhrS'

1 2t h

For the shown frame: —*

[3 marks]
[8 marks)
[5 marks]

.o Find the reactions,
2. Draw the NED., QF.D.
3. Draw the B.M.D.

[Total 16]

€2
tFor the shown rruss:
. Find the reactions, {2 marks]
2. Find the normal forces [10 marks]
in the marked menbers,
3
Fig. (Q2) [Total 12]
Q3

For the shown structures:
I Find the forces in the link members. W\{_ aZeldl {12 marks]
2 And draw the B.M.D. on!}% '

[Total 12]
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Higher Technological Institute
Mid-Term Exam — (J an-May 2017)

Civil Eng. Department

Time; 1§ hrs.

Dr.Manal Kamal Zaki Theory of Structures (2)-CT 112
Q1 ILO’s
For the shown beam:
1. Separate at C. [a2]
2. Find the reactions. |2 F ‘ - st [a2]
3. Draw the N.E.D., Q.F.D. &B% . W [a2]
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L
For the shown Frame: JrASra.
L. Find the reactions. * /¢, 3ES N 5l [al]
2. Dawthe NFD,QFD. " | __ 2 7/" ¢ i [22]
3. Draw B.M.D. # C 'l \i wl [a2]
5 m 7 7
Fig. (Q2) L
Q3 7 A A
For the shown Frame: e :
4. Find the reactions. fal]
5. Draw the N.F.D,, Q.F.D. fa2]
6. Draw B.M.D. ok - [22]
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Discuss the stability and determinacy
of the shown structure:
[d1]

f/"f;ér
S

Fig. (Q4)
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[2 marks]
[2 marks]
[4 marks]

[Total 8]

[3 marks]
[3 marks]
[4 marks]

{Total 10}

[2 marks]
[4 marks]
[4 marks)

[Total 10]

[2 marks]

[Total 2]
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For the shown Frame:
Find the reactions.
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Higher Technological Institute
10" Ramadan City
(6" October Branch)
Department of Civil Engineering |-
Course  :Theory of structures 2 (CT 112) Term : Jan.-May 2018
Examiner: Dr.Manal Kamal Zaki Time : 90 min
Mid Term Exam
Question 1 [a2,b3,c2] {10 Marks)
For the shown beam: lo IL
1. Find the reactions. {3 M} /
2. Draw the N.F.D., QF.D. {4 M} N e A
3. Draw the B.M.D. {3 M} 2t /Mf /Jj % e
O vy oo T P/ b ‘
S {} 9
L N G
5 » b‘h‘\ N :‘" LN
Question 2 [a2,b3,c2] {10 Marks} 9 & n - Iy (
For the shown beam: ﬂ P (,, o c ] g -
1. Separate at C. {1 M} Q /% e L‘}
- . Ad PV TN V__
2. Find the reactions. {2 M} 7\ : ~’ g ,/_k
3. Draw the NF.D., QF.D. {4 M} 7 5L S
4. Draw the B.M.D. {3 M} “’“ o
€ <) ¢
¥ P2 AN S R AN w’j MY
}‘::‘)" T
Question 3 [a2,b3,c2] {10 Marks} 2 ll;/:»\
For the shown Frame: ' _ -
1. Find the reactions. {3 M} *;r e O{
2. Draw the N.F.D., Q.F.D. {4 M}
3. Draw B.M.D. {3 M} ‘
e
l/ VV?‘ i _<y WTW é”éf
A?ﬁd ‘l/)?\“h “‘""T.’XZ";':’“J" ;;IPL\
o & j’}"m s
71/ e A & A A4
g“:,;i':. FATS q\u;{', Rty
.
Examination committee: 1-Name | Signature
2-Name Signature

Page 1 of'1




~~~~~

ZX3x1.5 49%x Ly
i W5
-6Y, +

H

c = H.b-
LIx3—2e515

- o3 h ‘
ool A )

Hl -~
B 3"
j@tﬁ ?aéj$Z§“£;



ZX c(/,)(l +Z{—)’( 7 _ }{0:_0 XC( 5{‘/ @g‘ﬁ%\ | YK:Q/L,

prau

\\..__,__ maiets

g‘/\”“t g\/n/\,—(’ /C/\/\A = /(5

wa’



5€‘L7 C ‘ BWW\\

HW\ | Q A

A Vp-lb | |2~

P

- #im«/}/gmmﬁ.
< )

/ ZEL 2N L

5%? - | | | "jf
AT A 6x2 lazlovt
T é\zjc\' —_ O

Sy R

- y=4e33

12,67t L2377
@i(/wo {
19 L —5 - 5’w+/f— —

—12.CHtE =

| VR

lob= e

Th- tnsst] it

ﬂ@ o tTxg—5xl
= 5,34 M&,




Higher Technological Institute
Mid-Term Exam — (J an-May 2017)

Civil Eng. Department

Time; 1§ hrs.

Dr.Manal Kamal Zaki Theory of Structures (2)-CT 112
Q1 ILO’s
For the shown beam:
1. Separate at C. [a2]
2. Find the reactions. |2 F ‘ - st [a2]
3. Draw the N.E.D., Q.F.D. &B% . W [a2]
57N N g
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b 2 s
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TFig @) 2,0 30 3,0 I
Q2
L
For the shown Frame: JrASra.
L. Find the reactions. * /¢, 3ES N 5l [al]
2. Dawthe NFD,QFD. " | __ 2 7/" ¢ i [22]
3. Draw B.M.D. # C 'l \i wl [a2]
5 m 7 7
Fig. (Q2) L
Q3 7 A A
For the shown Frame: e :
4. Find the reactions. fal]
5. Draw the N.F.D,, Q.F.D. fa2]
6. Draw B.M.D. ok - [22]
T 587
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3 - : %,ﬁ A SN
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Discuss the stability and determinacy
of the shown structure:
[d1]

f/"f;ér
S

Fig. (Q4)
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[2 marks]
[2 marks]
[4 marks]

[Total 8]

[3 marks]
[3 marks]
[4 marks]

{Total 10}

[2 marks]
[4 marks]
[4 marks)

[Total 10]

[2 marks]

[Total 2]

[Total 39}
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Find the reactions.
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Higher Technological Institute
Mid-Term Exam — (Sep-Dec 2017)
Theory of Structures (2)-CT 112

Civil Eng. Department

. 1
Dr.Manal Kamal Zaki G 93 Time: 17 hrs.
Q1 ILO’s
For the shown beam:
1. Separate at >, [a2] [2 marks]
2. Find the reactions. ZI‘ ‘1;/ \ [a2] [2 marks]
3. Draw the N.F.D., Q.F.D, & BM.D. | [a2,b3,c2] | [4 marks]
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For the shown Frame: L Uiy v T Ty 11
1. Find the reactions. [a2] [2 marks]
2. Draw the N.F.D., Q.F.D. PN [a2,b3,c2] | [4 marks]
3. Draw B.M.D. .l [a2,b3,c2] | [4 marks]
6L 5 m L
ol A\
i T
F ok T
Fig. (Q2) [Total 10]
ot
Q3 ~
For the shown Frame: 1 _L/ A’é// e e 17
4. Find the reactions. [«f P T 1T [al] [2 marks]
5. Draw the N.F.D., Q.F.D. C ' [a2,b3,c2] | [4 marks]
6. Draw B.M.D. / [a2,b3,c2] | [4 marks]
| |
f A
yod %- 7
%1/'529 vl BM/Ir/?n/w/
)‘ nA
Fig. (Q3) [Total 10]
Q4
Discuss the stability and determinacy
of the shown structure: /i [2 marks]
f{ @ [bl.c1]
Fig. (Q4) £ /;7—57_ [Total 2]
[Total 30)
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Higher Technological Institute
10" Ramadan City
(6™ October Branch)

Department of Civil Engineering
Course :Theory of Structures(2) (CT 112)

Term : Jan.-May 2018
Examiner: Dr.Manal Kamal Zaki

Time : 90 min
Final Exam

Question 1 {16 Marks} Dt/

For the shown frame: S B B Bt o e o e e B R T e ]
1. Find the reactions. [a2] {4 M} /JFL ,’j — b
2. Draw the N.E.D,, QF.D. [a2,b3,c2] {8M} | Y P
3. Draw the B.M.D. [a2,b3,c2] {4 M} Q,},\n

Question 2 {12 Marks}
For the shown truss:
1. Find the reactions. [a2] {3M}
2. Tind the normal forces
in the marked members [a3,b3,c3] {9 M}

Question 3 {12 Marks}
For the shown structures:
I. Find the forces in the link members.
2. Draw the B.M.D. only [a2,a4,c4] {12 M}
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Eixamination committee: 1-Name
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2-Name

Signature
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O L RARALAN CHY

HIGHER
TRCHNOLOGICAL
INSTITUTE

Higher Technological Institute Struc. Eng. Department

Model answer — (ThirdTerm 2016-2017)
Theory of structures (2)

CT112
Dr.Hany Ibrahim Ahmed Time: “haiy el
Q1Marks (12 ) ILO’s(a, b, and ¢)
Check stability of the following structures: .
0 0
Un stable
77777 77777

Q2Marks ( 18 ) ILO’s(a, b, and ¢ ) Un stable Stable & determinate

4

6 <!
4
| .
. 9 7777 ¢ 7777 1
B.M.D NE.D SFD
42
42 i
42
B.M.D N.F.D S.F.D
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LT GF RAMALAN CHY

Higher Technological Institute Struc. Eng. Department
Final Exam — ( Third Term 2016-2017)
Theory of structures (2)
CT112
Dr. Hany Ibrahim Ahmed Time: iy dele
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e
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—<; G- | 7 f A a 4 | 1 .

W § L

Q3Marks (8 ) ILOs{a, b, and ¢ )

‘

cCrure

Draw N.E.D |
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Higher Technological Institute

Final Exam — { Thirc 1 Te

‘u,m/f‘ S'z'ucL
CTiie
Dk fany Ibr ahu;}_Athe - o o

QIMarks (12 ) ILO’s(a, b, and ¢)

Check stability of the following structures:

%)
B

Krera ez

Q2ZMarks ( 20 ) LOs(a, b, and ¢ )

Braw N.F.D , S.7.D

D, B.VLD for the ol
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LT GF RAMALAN CETY

Higher Technological Institute
Final Exam — ( Third Term 2016-2017)
Theory of structures (2)
CT112

Dr. Hany Ibrahim Ahmed

Struc. Eng. Department

Time: “ualydclu
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44
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H H I 1 £ ¥
_{____ i % i % % 5o i i
2 | 9t
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L AN,

\
iy,
FHrir
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4 — 4

Q3Marks (8 ) ILO’s(a, b, and ¢}

Draw NED . 5,

hany281(@yahoo.com
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ACHUE RAMARAN €11y

Higher Technological Institute Struc. Eng. Department
Final Exam — ( Third Term 2016-2017 )
Theory of structures (2)
CT 112
_Dr. Hany Ibrahim Ahmed Time: “oisicla

it

2t/m

3
e
5 [ g ¥ k \% % i ] [y Mﬁf’
—— §§$%§$€£:y§‘§ﬂ”
<
2 | 9t ;
P L 4
A -t
Y.
S
4
. A
T

o
|
1
N
-

€Q3Marks (8 ) ILO’s(a, b, and ¢ )

Draw N.F.D , S.E.D, B.VLD for the followine structure
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Higher Technological Institute Struc. Eng. Department

Dr. Hany Ibrahim Ahmed 7 Time: “ial g aclu

Q1Marks (12 ) TLOs(a, b, and ¢)

Check stability of the following struciures:

. sy 3 NJ {;}
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Q2Marks (20 ) 1LOs{(a, b, and ¢ )

Draw M.E.D , 8.7.D, B.VLLD for the |
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IOPQF RAMADAN CITY

HIGE
TECHMNOLOGICAL
IMETITUTE

Higher Technological Institute Struc. Eng. Department

Model answer — (final exam Third Term
2016-2017)
Theory of structures (2)

CT 112

Dr. Hany Ibrahim Ahmed Time: “iuaigdely

I

Stable and indeterminate (3 times) Unstable

Q2Marks (20 ) ILO’s(a, b, and ¢ )

Q1Marks (12 ) ILO’s(a, b, and ¢)

Check stability of the following structures:

Unstable

Draw N.F.D , S.F.D, B.M.D for the following structures

12
T —0— 6 —0-
6 x — 5 — 6
\ + /12
~ 12

. N.F.D

Page (1/3)
hany281@yahoo.com







1O OF RAMADAN CITY

HIGHER
TECHMNOLOGICAL
INSTITUTE

Higher Technological Institute

Struc. Eng. Department

Model answer — (final exam Third Term
2016-2017)
Theory of structures (2)
CT112
Dr. Hany Ibrahim Ahmed Time: iaigicla
12 16
46
30
|
B.M.D
77077 77977
1
1.35 1.75 j
1.75 2.625 3.2 2.25
~=—0 —0
| 9
2.625
395 13.75 A_
| I
1.75
11625 |5 752 .y 7‘#1.25
N.F.D _— S.F.D

- A3 -
hany281 @VahOM/

Page (2/3)






23.5 ™~

1
7.5
9
7 16
8
B.M.D
Q3Marks (8 ) ILO’s(a, b, and ¢ )
<€«<—5.25
11
5.25
/. . /
B.M.D N.F.D S.F.D
18.75
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Higher Technological Institute . e ‘*;‘
3 . S
10™ of Ry madan City Rty
Department of Civil Engineering Siag
Subject: Structure 2 (CT 112) Term: Jan.-May 2011
Examiner: Examination Committee Time; 90 min
Final Examination
. o ' N
Question (1) (15 marks) ,2{:/""‘
| I W R B By | e
For the shown frame ;
) 5'm

- Draw the NF.D,, QFD. and BMD,

6
| J

Question (2) (10 marks)

t.
v

N\ E
For the shown truss: | oL 4’_ 3, J;J b
-compute the forcesin. 3k AT m ” M Ty
the marked members 3 + 3t . lat P
f< -1 EYad
l ‘/ J» ilc 4 m
Y
A 77})7 ,LZH’”
Question (3) (15 marks) & t+ G%Lp=:22p'ﬁ‘ ' 4_ &/LV\\
A 4 R B T N o B ' { L
For the shown structures: = -
-Compute the forces in the link members. 3
-Draw the BM.D. only. . Bt R L R P - P
P 3t/ » L
[ 45 IS W ] ) ) ) U W A | Av b
//{ C)\ e }:777"0\ Va2
2w
‘ na
b 5i‘$ L L ~ N .J'
n Y Zm = S I

Coarse Examination Committee

Coarse Coordinator
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Higher Technologlcal Institute

10" of Ramadan City
Department of Civil Engmeermg

Subject: Structures (CT 112)

Term: Jan-May 2008
Examiner: Dr.Manal K. Zaki

Time: 2 hours

Exam: Final .
Question 1(15 marks) 35/ 5t
For the shown frame draw the"l‘ M T

N.F.D., Q.F.D. and B.M.D.
under the given loads

Gim
ot ,J;, A
T_?TLLW\ ¥ L " L ;,2?}"""
Question 2 (15 marks) 3t ' -
For the shown compute the forces Cla Gt 6t l,3 t
In the marked members., 4Lty ¥ } X .
Check graphically 1
. - Zpy
st
/‘U A" X Lrl" = /6 ha }, L"m/‘u_
Question 3 (10 marks)
For the shown structures draw the t’ . |t
B.M.D. only _.LBL’ 4 7 * ;
7: 7:( 3
' m /_—;Ehd 9‘ M\
2 f ‘/ 7g_l ' ;4 : ' b-/' I l
‘17 # ™ _y Aw -r,v:"
7 >
3m
3 m |
] #  BF & .
+ "5"')111 ’ff\ 3
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HIGHER TECHNOLOGICAL INSTITUTE 3" semester 2016-2017
Mid-term Exam
Code : CT112 ; q

Examiner: Dr. WY&W

Civil Engineering Department

Theory of Structures (2)

Time allowed: 1.5 hr.

*** The exam consists of four questions in four pages attempt all.

Question (1): (3 Marks) 4.2,k , T2, A\

For the shown beam find the value of the shown
clockwise concentrated moment (M), such that the
supports can sustain load up to 2 t (tension) and 6 t
- (compression). :




Question (2): (5 Marks) <t v~ be ;<A 3
381
Find the supports reactions for the shown o
structure. £
£y
7
£
W

2 Best Wishes.

2t/m




3t
Question (3): (6 Marks) a4z, \'ﬂ—J vy, L/U
Detriment the external reactions and the force % 2 t/m
in link members for the shown frame. IT1111
N
-
1 £
z
4 m —4 2
3 Best Wishes.




Question (4): (6 Marks) cL * , be Cry (ﬂ\

Determine the magnitude, direction, point of application of the force which make the
system in equilibrium for the shown system

8t 5t 4t

A o

L5

a4 Best Wishes.




HIGHER TECHNOLOGICAL INSTITUTE 3 semester 2016-2017
Mid-term Exam

Code : CT112

Examiner: Dr. Alumed Youssef

Civil Engineering Department

Theory of Structures (2)

Time allowed: 1.5 hr.

*** The exam consists of four questions in four pages attempt all.

Question (1): (3 Marks)

For the shown beam find the value of the shown
clockwise concentrated moment (M), such that the
supports can sustain load up to 2 t (tension) and 6 t
(compression).

4 m Dy
Only support (a) can expose to tension.

***In first case the vertical reaction (y,) must not excess 2t (downward).
e Z Mb =0
2%4*2 +2*4 -M =0 M=24tm ---—--- 1

***In second case the vertical reaction (y,) must not excess 6t (upward).

. >M, =0
2%4%2 - 4*6 + M =0 M=8tm ------m- 1
We can satisfy the two condition by Moment= 8 t.m -------- 1

Question (2): (5 Marks)

Find the supports reactions for the shown
structure.

~1.5m-1.5m~

6 m
2t/m

2 t/m

1.75 ¢




3t
Question (3): (6 Marks) L

Detriment the external reactions and the force 2 t/m
in link members for the shown frame. IT711 11

Kz

4
o

. M, =0
3%10 + 2*4*6 -8 Y, =0 Yy, =9.75 t (upward) -1
. Y =0

1t/m

A—4 m-
I

8+3-Y,-9.75=0 Y,=1.25t (upward -------- 1 PR i
. 22X =0

X, =4t (totheright) ----—-- 1

. M, =0

3*10 + 2%4%6 — 8 *9.75 — 4%2- M, =0 M, =8 t.m (clockwise) --1

. >My =0

3%6 + 2*¥4*2 -4 F,. =0 Y, =8.5t (tension) --1

. >Y =0

8+ 3 +8.5 —Foq cos 45=0 F.q =27.577 t (compression) -------- 1

2 Best Wishes.




Question (4): (6 Marks)

Determine the magnitude, direction, point of application of the force which make the
system in equilibrium for the shown system

8t St 41t

Solution:-

-Analytical

2Fx =Ry

Ry = -5 cos (15) + 4 cos (60) = 0.705 t (left)

2Fy =Ry

Ry =-8 -5 sin (7) -4 sin (60) =-16.29 t (upward)

R= (Ro)?+ R)?)*5=16.30t

Tan0 =R,/ Ry moooo 0 =92.47°

R * x sin (87.53) = 5 * 4 sin (75) + 4 *12.5 sin (60) ®= X =3.85m

Best Wishes.




. Higher Technological Institute

Q1 R G Ve
. R i T
For the shown beam: P ity i
L. Separate at Cand D i | [a2]
2. Find the reactions. / 111 S i [a2]
3. Draw the NF.D, QED, & BM.D. /= ;oS [a2]
) I 8.t ' |
: F
/ |
|
f!
‘J
Q2

F
AR
For the shown beam - L. 1]
1. Find the reactions. I 24—/ N i
- \’f/ /‘./\/\-» i
2. Draw the N.F.D,, Q.F.D.\Jiz S /
3. Draw B.M.D. e E R N Vol
' b A
= _.i,f Z/L)ﬂi:, f
g !
;
| |
Oz (
|
|
Q3 !
For the shown Frame: ;

4, Find the reactions.
5. Draw the NED., QF.D.

}
6. Draw B.M.D. c 2.71— Z:// N O/{_ |
S t £ U 1 O O T E/{,}W'[ —
|

] et |
1! uﬂ:\; :

>.]’,£Z.._ CL — ; - P
7‘7%777 2 h _ J
\

Fig. (03)
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- , o1 I I i e -
Discuss the stabilj 'y and determinacy

of the shown structyre: |
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N / !

- i j
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: |
Fig. (Q4) | ! !
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Wil

fowal
oo
Ind i

v R |

o

e
53

[di]

Civil Eng. Department

: Mid-Term Exam — (Sep-Jan 2016)
%MW%_&E‘_
: 1
Dr.Manal Kamal Zaki Theory of Structures @)-Cr 112 Time: 1= his,
\H‘_ﬁ_ﬁu_mﬁ
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{Total 16]
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[2 marks]

[Total 2]

{Total 301 |
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Higher Tachnological Institure Civil Bng. Department

X o i,
_Dr.Manal nal Kamial Lak_k_h 7__"[}-1301-__\__: of tmcm,eg res {2)-CT " 112 Time 1< hs.

01 BRte)

For the shown beara:

I Separate at D, L L a7
- 1 L. ¢ e ! ' : il v_-“'
2. Find the reactions. 7 — 7 = Y
S A . L]
3. Draw the N.ED., QFD. &fmn z S v
dIFIN - I Sl P IR
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For the shown beam - o T h f

; . Tl — 7 B 7 - ’
;. Find the reactions. /A D oK 7 D lal]

2. Draw the NED. » QFED, r5777 i N Poofamy

5. Draw B.M.D. ! \ Doy
[ 5 \.— ! { T §
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For the shown Frame:
4. Find the reactions.
5. Draw the N.F.D, .QF.D. ; 5y pe s
6. Draw B.M.D. = I t 0[, /LLL/ SR
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sligher Technological Tnstitute
‘ _Mid-Term Exan - (Sep-Jan 201 6;

_Dr.Mana! Kamal Zaki __ Thisory of Sructures (2) @)Ciila  Time: 15 brs.

For the shown beam: ; ,
| S 3111 ,!’?./: F e | g }I ,_,“b ‘2_ N
. Separate at{ S F ——a A R P
,) - E L. l H P "F')“
2. Fmnd the reactions. 2 ] 4»;: a2l
3. Draw the N. F .D., Q.FD & BM.D. e 1T [a2]
et [
~ Y )
ANy B

'S ! !

2 4 - . ~, 0:-‘ : - __ﬁ\__

: L= N AL

For the shown beam - Y f_jTl I R o ’%7 iy

4 < - L5 1 s sl ) - |
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Higher T echnologi‘c-al Institute Civil Eng, Departn@nt
Final Exam -(Sep.-Jan 2016/2017;
Theory of Structures (2)
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For the shown frame: oL :
b. Find the reactions. /Q__!_ i ¢£33 R L%'f_ : +o[a2,d1] I3 marks]
2. Draw the NF.D., Q¥D. -~ &, o A | [a2] [8 marks]
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For the shown truss: - _
I Find the reactions; .
2. Find the normal forces
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HIGHER TECHNOLOGICAL INSTITUTE 3" semester 2016-2017

Final Exam

Code : CT112

Examiner: Dr. Alumed Youssef

Civil Engineering Department

Theory of Structures (2)

Time allowed: 1.5 hr.

*** The exam consists of five questions in two pages attempt all.

4lt
Question (1): a2 b2 l c
.cl.c2 (11 Marks) A

Draw the straining action
diagrams for the given

beam. 4t.m

I, 8m—

P

4 b
A =y

- Tyt pppe -4

4.0

Question (2): a2, b2, cl, c2, d1 (6 Marks)
2.429 R
For the shown shear force diagram SF ‘ # m i
deduce the corresponding B.M.D. b %
2.0 / %
‘ 3.571 ‘ v
A 2M——2m— 3m- 2M——2m—
) 1t/m ) 4t
Question (3): a2, b2, cl, c2 (11 Marks) @JHHHHIHHHHHHHH
N [¢
Draw the straining action Diagrams for the f l
shown frame. T
| 4t ][
§
—6m 2m—

Question (4): al, bl, dl, d2 (6 Marks) Discuss the stability and determinacy of the
shown structures:

Vo S

A 2 2 A o o
Beapy

£russ Al Framc




12t 2t

Question (5): al, a2, b2, cl, c2 (9 Marks) 2t . Y, !
— —
For the shown truss determine the force ] d
in the market members. ﬁ&n
e
£
a / .
4 m —4 m

p Best Wishes.




HIGHER TECHNOLOGICAL INSTITUTE 3" semester 2016-2017

Final Exam
Code : CT112
Examiner: Dr. Alhumed Youssef

Civil Engineering Department

Theory of Structures (2)

Time allowed: 1.5 hr.

*** The exam consists of five questions in two pages attempt all.

Question (1): (11 Marks)

Draw the straining action diagrams for the given beam.

: 411
] A
i |
ex - Zﬂm ay
I i b .
Bl e .
-
/Im b
b
F Y

3 pr -
L: ‘Ti—{i%
.
34
o H24 ¢
e Y
lE’t 2 ym 4t
: A
Question (2): (6 Marks) % A
. 5 o . . m
For the shown shear force ~—2m om am om or—r
diagram deduce the
corresponding bending moment 4.0
diagram._(3 marks Loads + 3 0 420
B.M.D) '
S.F.D {5 ]
2.0 \w N
‘ 3.571~
A—2m 2m 3m —2m 2m—
8.0
4.0
/(((rmh\ Y
X ' N
" 0.858 e

2.25




Question (3): (11 Marks)

} 1t/m ) 4t
Draw the straining action Diagrams for the ;@LHHHHHHHHJ'H(HHHJ'
shown frame. L

e 4t
5
y
6m 21m
€
([T
> 4 — ’ " .:sJ:mT‘*-» — : , 6
TEEEEN [ T1 L
2 e
g 10 67 ) '?": . 5‘ q-
V32 “
L
o4 —* *J =
4' io‘ {’1 i [« J
N o B
B e ) /
ya
o z\l\__"____
3

Best Wishes.




QUESTION (4) : (25

For the beam: (r, 3 +c)
r=5,C=2 5=2+3
“This beam is statically determinate.

For the Frame: (3m +r, 3j +c)

m=14,r=9 ,C=4,J=13 (3)(14) +9 > (3)(13)+4
~This frame is statically indeterminate (8% degree)

For the Truss: (m +r, 2j)

~This truss is geometric unstable (since the second panel has not bracing)

QUESTION (5): (4)

12t
I¥. =Y, = 6t upward| 2t ¢ Y, ! 2t
— —p
4 p
Cut the structure into two parts. £

For the left part:

5 M,=0 :
0= (2)(6) = Fca (6) a //// e
- Fed = 2t tension 4m 4m
5 Mg=0

0=(4)(6)-Fx (6) [ Fap = 4t tension

5 Y=0

0= Feq (sin 8) + 6 -] Feq = 7.21t compression

Best Wishes.
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